
Шахматы 2 год обучения. Урок 121. Мат в 2 хода в миттельшпиле. 

Задания: 

Поставьте мат в 2 хода. 

          1 – ход чёрных                              2 – ход чёрных 

XABCDEFGHY   ABCDEFGH 
8r+q+r+k+(8r+-+-trk+( 
7+l+-+p+-'7+-+-zpR+p' 
6p+p+-vLp+&6-+-+Q+p+& 
5+pvl-+n+p%5+-zpPvl-+-% 
4P+-+pzP-+$4-+-+-+-+$ 
3+PsN-+-zP-#3+-+-+-+K# 
2-+Q+L+NzP"2PzP-wq-+PzP" 
1+-+R+R+K!1+-+-+R+-! 
xabcdefghy   abcdefgh 
            3 – ход чёрных                             4 – ход белых 

XABCDEFGHY   ABCDEFGH 
8q+-+-trk+(8r+-wqkvl-tr( 
7+-+n+pzpp'7+-+p+-+p' 
6-+-+-+-+&6p+-zPpzpn+& 
5+-+P+lzP-%5+pzpn+-+-% 
4-+-vLn+-zP$4-+-+Q+-+$ 
3trp+N+-+-#3+-zPL+P+-# 
2-+-+N+-+"2PzP-+-zP-zP" 
1+KtR-wQL+R!1tRNvL-+RmK-! 
xabcdefghy   abcdefgh 
          5 – ход белых                             6 – ход белых 

XABCDEFGHY   ABCDEFGH 
8-+rtR-+-+(8rwq-+-tr-+( 
7zp-tr-vlpzpk'7+-+-+p+-' 
6-+q+p+-zp&6-zp-zPnmkp+& 
5zP-+-zP-+P%5zp-sn-zpN+p% 
4-zp-+-+QsN$4-+L+P+-zP$ 
3+n+-vL-+-#3+-+-+P+-# 
2-zP-+-zPP+"2PzP-wQ-+-+" 
1+-+R+-mK-!1+KtR-+-tR-! 
xabcdefghy   abcdefgh 
 

 


